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QUESTION 1

You have collocated sectors In your 2G network on the GSM 900 and the DCS 1800 bands. Reviewing the network
level traffic distribution, you noticed that the GSM 900 sectors have five times more traffic than the DCS 1800 sectors. 

Which two actions would improve load balancing between these bands? (Choose two.) 

A. adding additional GSM 900 sectors 

B. changing the handover margin 

C. expanding the site\\'s transmission link 

D. changing the idle mode cell reselection parameter 

Correct Answer: B 

 

QUESTION 2

You are performing a drive test on a cluster carrying commercial WCDMA traffic using a drive testing tool. What are two
metrics that would be detected using this tool? (Choose two.) 

A. packet throughput 

B. RNC processor load 

C. channel element utilization 

D. speech accessibility 

Correct Answer: AD 

 

QUESTION 3

What is the recommended setting for the primaryCpichPower parameter according to Ericsson NDO guidelines? 

A. less than 33 dBm 

B. 36 dBm or more Independently of the maximum transmission power 

C. 8-10% of min[maximumTransmissionPower, maxDlPowerCapability] 

D. 33 dBm independently of maximum transmission power 

Correct Answer: C 

 

QUESTION 4

Review the exhibit. 
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An operator\\'s LTE single layer network has a cell not carrying enough traffic. To increase the traffic carried by the cell,
the operator decides to modify the Idle mode behavior of the cell. Values for the qRxLevMin and qQuaimin parameters
are currently set to -120 dBm and -12 dB. Referring to the exhibit, which two configurations would be used to potentially
increase the traffic carried by this cell? (Choose two.) 

A. Set the qRxLevMin parameter to -117 dBm. 

B. Set the qQualMin parameter to -15 dB. 

C. Set the qQuaiMin parameter to -9 dB. 

D. Set the qRxLevMin parameter to -123 dBm. 

Correct Answer: BD 

 

QUESTION 5

How would the highest theoretical UL throughput in a WCDMA network that supports HSPA be achieved? 

A. using R99, UL SF 4 

B. using R99, UL SF 8 

C. using 2 ms TTI for EUL 

D. using 10 ms TTI for EUL 

Correct Answer: C 
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